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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

MS:  TE UGS ST At (200) 3FehT 1€ TS THH AR (4) T & | AT bl 38 THIed W91 o 3T
37T 3t T o Feem o STER ST ¢ |
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SECTION -1
T -1
This section consists of two essay type questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)
TG TS § S G-s1d 37 o &1 (e-uTcas U9 & | Ucdeh ol STR ol Urer | (500) =i o
FATTE | (2 X 20 = 40 37H)

Analyse the emerging scenario of rural society after the implementation of 73"
constitutional amendment.
feeaiel Soref-ieh TeneM & fohaT== o a1 ATHI0T YIS o SR UGS o [aveioT st |
OR / stgat
Analyse the role of social structure as a facilitator for development in India.
IRA H e & WedTesh o &9 H TS GaT i e i foeeisor it |
OR / stgat
Discuss the impact of industrialization on family and social stratification.
URER 3R FHTISTR TIHT TR STNRTHIEHT o T sht foaeT L |
OR / stgat
Write an essay on population as a constraint and as a resource for development.
Torehrar o forat ameren 3R TQTEA & ©9 | SHaer | ey fafed |
OR / stgat
Analyse the appropriateness of socialist feminism in the Indian context.

IRATT T H FHSTERT SIS 3t SUERTT hr Ta9eooT Y |

J-0510
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Critically examine the consequences of inclusion of caste in the Census of India.
WIRA Sl STRTOT H ST i I L o TROTHT i T DI |

OR / stgat
Analyse the impact of globalization on the social relations in Indian society.
YR FHST H HIHIh e} U3 S9aehioT o TTe T [Teeisor &Y |

OR / stgat
Discuss the social consequences of privatization of higher education.

I T97eTT o TT=TIoh 0T o QTATRTeh UROTH] i fora=T it |
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SECTION - II
EC i | |

This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the
three questions from it. Each question carries fifteen (15) marks and is to be

answered in about three hundred (300) words. (3 X 15 = 45 marks)
TH TS H U Ufeseh Zohre / foeimstar @ @i (3) Ue1 € | 371ell i hered Ueh Ufeseh ot /
ToTQTOITeT ST TFeRY ST o AT I9T ST TR AT & | Tedeh U9 Ugig (15) 37ehi o1 & o Seh!
IR AT A 4T (300) IrET H AT | (3 x 15 = 45 3i)

Elective — 1
Rural Sociology
ufs® - 1

TTHOT FHSTITE

Clarify the concept of r-urbanism and analyse its appropriateness in understanding
Indian rural society.

UNF-TRETE i SR i T HY 3R JRAT ATHIOT THST BT GHSH H 3T ST 1
forocte o & |
Discuss the main issues of the mode-of-production debate in India.

IRA § ICRA-OTEA TR 6 9 [ 7T el i [qaemt it |

‘Does rural to urban migration contribute to upward mobility ?” Comment.

T TTHI0T H ITE Wl e ieietd § FrTeH T & 2° feoqoft Sifss |

OR / at¥an
Elective — I1
Industry and Society
s - 11
ST AT FHTSA

In what way did the industrial revolution promote Capitalism ? Give suitable
examples.

STTENTiTeR ShTf= = o TehR SIS Shi SigTal TS 2 SUger S0 it |

How does rationality contribute to Industrial Development ? Answer in the light of
Weber’s views in this regard.

AT o W v UehR fordieh ol AR BT € 2 39 Wy H 9k o foaRy & UehreT o
31T TR SIS |

Critically examine the limitations of industrial development.

SArENTiTeR forehre o6t HIATST hl STATETcHeh IIel it |
10




OR / at¥an
Elective — I11
Sociology of Development
ufess - 111

fawmma = quseTE

What is Human Development ? Can it be obtained through economic growth ?
Comment.

e Toehre s € 2 o 3 STk Wty o STRY W feham ST Fehell & ?

Critically examine Myrdal’s theory of underdevelopment with reference to India.

R o e | THETel o Tedfash™ o FgT= I STetramTeHeh Tt & |

Is Gandhian model of development still relevant for India ? Give reasons in support of
your answer.

1 e o1 TTiiea! Higer 21t o R o ford UrhiiTer & ? 310 ST i qfte H SRoT Sty |

OR / &1gar

Elective - IV
Population and Society

s - IV

TAEEAT 3R qHST

Critically examine the Malthusian theory of population growth.

TR & ST i o fagT= ol STeTramTeneh Tet Hifsre |

Discuss the consequences of migration at place of origin and at place of destination.
ol M 3R e T TR ST How 3 9RO} o6t faer=m i |

Analyse the role of soc1o cultural factors in population growth in India.

IRA § G i Gl H TTITTeh-TRR e FReht sl YfHehT T [avetsor SHifs |

OR / at¥an
Elective - V
Gender and Society
s® -V
o 3t T

Discuss the implications of changing production and reproduction relations for
women in India.

IR H Tl o Torat Sgert Seamee 7R Ui T ok ffearert sht fereemr s |

How far development policies in India have brought out change in gender relations ?
TRA H faeprg At fora e o et 7o aRem= @ § ?

Can cultural indicators be evolved and standardised to assess the status of women of
various social categories in India ? Explain.

T IR H {afg= Qs Sifvri s R ot afaid s Heaish i o ol Qiepidaen e

T STERIGT TR AR [haT ST Fehell & ? ST i |
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SECTION - 111

s - 111
Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)
Me: U Ee H TTq-2] (10-10) 37T & AT (9) TRA & | TP YT T ST 1T T (50) v=3i |
JUMITE | (9 x 10 = 90 3i)

6. What is ‘Social World” according to Alfred Schutz ?
3RS I o TR “HIHI ST T8 2
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7. Explain Foucault’s concept of power.

TRt o I § FehT ol STATERUT Shi SARAT it |

8. Explain the concept of structuration as given by Anthony Giddens.

T e~ §RT Ufquied TTaTehIuT shi STTERUT i AT it |

9. Who authored the report of ‘The People of India’ project ? How many communities
of India were identified in it ? What was its criterion ?

3 et 3T Sfear vistee i Rare forem ferd! 2 s wRa & fha THRTEr o e i T8
T 7 THH HI7Th T T ?
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10. Discuss D.P. Mukerji’s Marxian perspective to the study of Indian society.

TR THIST o 3Te9 o 9 § S1.U1. Tohoil o HIRIaST TIiesT ol faae T shifs |

11. What are the dimensions of caste-based inequalities in contemporary India ?

THRIA TR H S-SR STHHATAT o o1 SR & 2

J-0510 19 P.T.O.



12. Describe factors which are contributing to ecological degradation.

R aeh ST T TS o SHReh( ol I i |

13. Distinguish between crime and delinquency.

HATRTY AR TR & & 3= HY |

14. Discuss the concept of modernity as propounded by Yogender Singh.
A g §RT Wi SMefTehdT sht TR i fae= T it |
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SECTION -1V
g g -1V
This section contains five (5) questions of five (5) marks each based on the following
passage. Each question should be answered in about thirty (30) words.
(5 X 5 = 25 marks)
T ©e ¥ FEfaiad uieds 9T e uier (5) U9 & | Ucieh U9 1 SR o @i (30)
I H TR & | ik Ue Ui (5) STl 1T | (5 x 5 = 25 37)

Read the following passage and answer the questions given below it :

Although neo-functionalism may not be a developed theory. Alexander has
outlined some of its basic orientations. .... neo-functionalism operates with a
descriptive model of society that sees society as composed of elements which, in
interaction with one another, form a pattern. This pattern allows the system to be
differentiated from its environment. Parts of the system are “symbiotically
connected”, and their interaction is not determined by some overarching force. Thus,
neo-functionalism rejects any monocausal determinism and is open-ended and
pluralistic.

Alexander argues that neo-functionalism devotes roughly equal attention to
action and order. It thus avoids the tendency of structural functionalism to focus
almost exclusively on the macro-level sources of order in social structures and culture
and to give little attention to more micro-level action patterns. Neo-functionalism also
purports to have a broad sense of action, including not only rational but also
expressive action.

...... neo-functionalism retains the structural-functional interest in integration,
not as an accomplished fact but rather as a social possibility | It recognizes that
deviance and social control are realities within social systems. There is concern for
equilibrium within neo-functionalism, but it is broader than the structural-functional
concern, encompassing both moving and partial equilibrium. There is a disinclination
to see social systems as characterized by static equilibrium. Equilibrium, broadly
defined, is seen as a reference point for functional analysis but not as descriptive of
the lives of individuals in actual social systems.

.... neo-functionalism accepts the traditional Parsonsian emphasis on
personality, culture and social system. In addition to being vital to social structure, the
interpenetration of these systems also produces tension that is an ongoing source of
both change and control.

Fifth neo-functionalism focuses on social change in the processes of
differentiation within the social, cultural and personality systems. Thus, change is not
productive of conformity and harmony but rather “individuation and institutional
strains’.

fifond Titeese o afed 31K e fod ueel o SR i

BB —|o|uch|qo||q forepfad T el &, ToTeieR o ST $o Jood STTaEdrat i
EREI N ¥ | TATHEATEE THIST 3 A0S TET % Qe qRE1Terd 2ia &, ST 155 T8 &1 37
3aFa T THeTeR a7 g3TT SEdT & T Ush SH & 1Y 37a:fohan ot € 3R Ueh UiqH s € |
g UTTHT AT T 3Tk TATER0T H 3T i 3ol € | SHedl & 9T, F=A=diveh &9 9
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It § 3R A 37 fohan fohelt 3Tqel a1t T e =2t gielt € | 37: Fowhraang et off
ToheT-ohReh (THRUTETE i TR AT € 3R o ot FY T F Tgerasl € |

Telereiel Ted Sl ¢ Toh TaVehEas Shal 3TR ST bl ol Ueh TH € a1 ¥ |
3T:, TE TTHISIh GXAATST 3R TR Il T SHewT o FHI-TX il TR &l A SRy & 3R
AT FAMCATRT TR 6 BHAT WA U S €1 & o fordl WaTesh YehrEams o 9grd | et
& | TEvehrdes fohar % = fath foaeryot wwq stfiedsTTeiier SR o saTdeh e ot | ot T

g |

... TAYRTIETE = UehIehR0T H, TIaTcHeh-YehTaTcHeh S1d ! ST Tl &, Yo7 d2F o ®
H T A HHIAR AHIET % &9 H | 36 Tt o7t & T |rtsteh e o 3=y foreer
3R WIS =0T ATRATThaTE & | FAVehRIETE & 3T Wqer % ford TR &l &, ] T8
AT -YehTA TS TRIPR ol qoTT H SATET ST € 3R A9 Ue STiTeTeh Tder I i
uRafSed At & | R Gee §RT Al QrHisTeh sHaenati sl @ st v 7l & | S
FAEH T W NN T I THRIcTsh GRS % ford ¥eef forg wwen S €, ey
ST ToTeh WTHITSTeh SHaTaT § el & Sier o U & &9 H 7@ |

... TARETE = AT, TEhid 3R ATHI e IR YRR TREIERT ST i
TRR AT € | FHISTR G & ford Heedqol 8 o SATaRed 37 SFawai o iAo a-re
Y ST AT & S TR 3 E=I07 SH1 ol Gad Eia ¢ |

T, TEehTIETS, ATHIh, TRehiaeh 3R Sfeaed SAaesll & 3T foTdSIehoT
TRRATST § HTHITSTeR IR T &I higd el © | 3Td: URecH, SFETar SR T 6
SCATEeh 7Tl ¢ Siceh “SATaAehol 3N Hi1{+eh a1ar &1 SR ¢ |

15. Why is monocausal determinism rejected in neo-functionalism ?

TS H Tehel Shieh (URUTeE &Rl 3EaliehY fohdT ST & 2

16. Why are macro-micro level sources linked in neo-functionalism ?

FHE-SAT T o i TauehrEIdTeE | a7 Trai=d & ?
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17. How has the concept of equilibrium been viewed in neo-functionalism ?
c . . o o
IS H T i SR W o TR =R Toham STrar & 2

18. How has change been differently viewed in neo-functionalism ?
TIVHTIAETE H TR ol TG FehR T e § @1 T & 2

19. Explain the differentiation within the social, cultural and personality systems with
suitable examples.

I, WREp(dh 3R Al aensti § [auRiRor i U S0 & a1 AR
T |
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